15D/BR. 2011 Arithmetic 1oth Febraary

1. Change the following Roman numerals nto modern Hindu-Arabic numerals:

{a) CLXXXIX (b} MMMXILVI {e) MMDCCXCIX
2. (a) Find the difference of 124 and 36.

(b) Find the product of 19 and 43.

{c) Find the sum of 47562 and 567,
{d} ¥ind the quotient of 495 and 15.

3. Evaluate:
(2) 561644 (© 112+ (28 +4) (i) V68— vEL
(b) 6x32: (24+6) (f) 213 - (88— 20) x 3 () 8425
@ 6x2+246  (g) 332-9x4+30+6 o 70124
(@) 116:+68 (h) 11x 3% — 9t 13x8
b () 112+ 28+ 4

4. Show all your working and complete the following long division queations;
{a) 3588+ 23 (b) 15543+ 32 (c) 48613 + 47
5. (a) Rewrite without parentheses to illustrate the distributive property: .
(i) 8x(3+9)
(it} 35 x (21 — 4.8)
(i) alb+c -+ d)
(b) Rewrite with parentheses to Illlwtrate the distributive property:
(i) 16 x5-16 x 22 .
i)y TxU4TxV
(c) State whether the sentence is true or false: 6 x (8 x3)=(3x8)x8,

6. Use the distributive law to fectorise then evaluate;
(a) 925 x 25 — 25 x 25
(b} 13-8 x 37+ 37 x 36.2

7. Write as & mathematical expression using symbols:
(a) Eighteen is greater than four.
{b} The cube roct of one hundred and twenty five is less than three squared.
(¢} Ninety four and ninety nine one hundredths is approximately equal to ninety five.
{d) Seven is not equal to. ffeen divided by two.
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